Set (R+(TILE_GT) intersection TILE) for s1
and B =7, 79, 133]

[N, ii, jj, kk] -=> {[i, j, K] : i >=-7 + N - 7ii

79jj +iand j <N and k >=0 and ((kk = 0 and k<= -
<=-137-i+jand k<=-3+N-7ii-i)or (i<=

+ 79jj +iandj>= 136 + 133kk + i and k >= 133kk
or(i<=-2+N-7iiand j>=3 + 79jj+iand k >
-i+jand k <=132 + 133kk) or (i<=-2 + N - 7ii
and j>= 135+ 133kk + i and 133kk <= k <= 132 + 13
7iiand j>=2 + 79jj + i and k >= 133kk and 0 < k
133Kk) or (i < N - 7ii and k > 79jj and k >= 133kk
<=132+133kk)or(i<=-3+N-7iiandj>=4 +
and k>=133kkand 2 <=k<-i+jand k<=132+1
<=-2-79jj-i+jandk<=-135-i+jand k<=
(kk=0andk<=-2-79jj-i+jand k<=-2 -

7ii- 1)}

Set (R+(TILE_GT) intersection TILE) for s1
and B =[1, 79, 133]

[N, i, jj, kk] -> {[i = -1+ N - ii, j, k] : ii <
ii + 79jj <= <= 78 + N - ii + 79jjand j < N and
133kk and 0 < k <= -N + ii + j and k <= 132 + 133Kk

Set (R+(TILE_GT) intersection TILE) for s2 is empty

andi>=0andj<=79 +
4-79jj—i+jandk
-2+N-7iiandj>=3
and 0 < k <= 132+ 133kK)
=133kkand 0 <k <=-2
and j>=2+79jj +i
3kk)or (i<=-2+N -
<-i+jand k <=132 +
and 0 <k<-i+jandk
79jj+iandj>=4 +i
33kk) or (kk = 0 and k
-2+ N-7ii-i)or
+jandk<=-2+N -

N and kk >= 0 and N -
k > 79jj and k >=

}



